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If acosa+bcosp+ccosy=0, asina+bsing+csiny=0

Prove that a’cos3a+ b®cos3B+ c®cos3y =3abc cos(a+B+7),

a’sin3a+ b’sin38+ c¢’sin3y =3abcsin(a+B+y).
Ifx, :cos§+isin§, prove that

(@) XXX, o=1 (D) XXX, %  oo=-i
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By using De Moivre’s Theorem, show thatcosa + cos2a +........c0S5a =

If sin60 =acos® @sin & +hcos® Asin® @+ ccos@sin® O, Find the values of a,b,c.

Prove that M:( 3

X3 — x? —2x+1)2 , where x =2cos 8
1+ cos@

Find all the values of §/l+ i\/§ + E/I—i 3 and find the continued product of these values.
If a,®,,” are the roots of x*> —1=0, find them and prove that
(2-a)(2-a°).......(2-a") =31

Solve the equation: X° +X* + x> +x* +Xx+1=0.

Prove thatcos® 6 —sin® 6 = %(cos 66 +15c0s20).

Prove thatsin’ &cos® @ = —S—iz(sin109—4sin 86+ 3sin 60 +8sin 49 —14sin 20).
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Prove that cosech x+coth x =coth 5.

Prove that sinh® x = %[sinh 5x —5sinh 3x +10sinh x].
7 0
If coshu =sec@, then prove that u=log [tan (Z+EH.

If logtanx =y, prove that coshny = %[tan” x-+cot” x | and

sinh(n+1)y +sinh(n—1)y = 2sinh ny cosec2x

Prove that 16sinh® x =sinh5x —5sinh 3x +10sinh x

If tanh(a +i) = x+iy, prove that x* + y*> +1=2xcoth 2a &x*+y* +2ycot23 =1.
Separate into real and imaginary parts sin™ e,

Separate into real and imaginary parts tan™e".

Separate into real and imaginary parts ofsec(x +iy) .
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If cos(a+ip)=x+Iy, prove that

If sin™ (a+i)=x+iy, show that sin® x &cosh® y are the roots of the equation
A =(a®+ B +1) A+a’ =0,
Separate into real and imaginary part log, ;) (1+1).

Prove that the principal value of (1 +itana)™ is e%[cos(logcos a) + isin(logcos a)]
4x

X2 +y?

If x=2cosacosh B, y=2sinasinh S, prove that sec(a +if)+sec(a—if) =

Determine all integer values of 8 with 0<# <90 for which (c050+ isin 49)75 is a real number.
The equation z'° +(13z -1)" =Ohas ten roots z,,7,,2,,Z,,..2,,Z,. Find the value of
1 1 1 1 1
+ + + +
Z171 Z272 2373 Z474 Z575

Find the roots of the equation z°+z* +z° + 2> +1=0 that have positive real parts.




